CATALOGUE OF OIL PRESSURE SENSOR

Mhw no: JYSO001

Part no:
Application/0.E. M:
LADA

JAEGER

Whw no: JYS0006

Part no:

Application/0.E.M:
MERCEDES 001 542 26 17
VOLVO 3417000

&1? % M14X1.5 ﬁ 4mm

; 48
0-6Bar {:(E; 18 E%g M14X1.5 [jl ook £j1

0-10Bar

0.6+0.03Bar

Mhw no: JYS0002

Part no:
Application/0.E. N:
KNS SB-014E1

Whw no: JYS0007

Part no:
Application/0.E M:
RENAULT 77 00 690 868

C@Eﬁ %3!&-1SNPT @ 4mm

0-10Bar 4.5+0.2Bar

4.8
C@ 17 % M10X1.0 El 635 B

R

0-7Bar

1+0.2Bar

Mhw no: JYS0003

Part no:
Application/0.E.N:
EANW $B-014E

Nhw no: JYS0008
Part no:
Application/0.E. M:
MERCEDES

= 48
C@ 4| = meX1s B 635 E

i y ; 48
0-58ar [ 0.6+0.058ar C@w %mzmm Eﬂ.SiE].

0-10Bar

0.8+0.15Bar

Whw no: JYS0004

Part no:
Application/0.E. N:
MERCEDES 004 542 89 17
VDO 29/56

Whw no: JYS0009

Part no:

Application/0.E. N:

G. M. 6462649
10030966
22522707

{:(EZ 19 E%g M14X1.5 4;L e

0-5Bar C@ 18 % 1/4-18NPT

[l es

0-6Bar

Mhw no: JYS0005

Part no:
Application/0.E. N:
EAN 02505-00

Mhw no: JYS0010
Part no:
Application/0.E.M:

% 1/8-27TNPT

0-6Bar £1S %1!&-2FNPT @ dmm

0-10Bar

0.8+0.15Bar

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Whw no: JYS0011

Whw no: JYSO016

Part no: Part no: OP6085
Application/0.E. M: Application/0.E. N:
LADA 2103-03810-30001 TOYOTA 83520-55010
83520-55011
18 _ M18X1.5 0-6Bar (@R seas | T 635 ‘ 0-68ar I
Whw no: JYS0012 Whw no: JYS0017
Part no: Part no:
Application/0.E. H: Application/0.E. M:
MERCEDES 004 542 43 17 TOYOTA 83520-50010
004 542 43 17 A
VDo 360 081 029 059
Y _ MA8X1.5 {T m 0-5Bar 14‘ 1416NPT | I, 635 { ' ’V 0-7Bar

Whw no: JYS0013

Part no: OP60B1

Application/0.E. N:

NISSAN 25070-89900
25070-89902

Whw no: JYSO0018

| B seas | 4mm

Part no:
Application/0.E. N:
MERCEDES 002 542 17 17
PORSCHE 928 606 203 01
VDO 928 606 203 02
VDO 360 081 034 004
360 032
360 001
0-6Bar ‘ (C 24| 22 m8x1s } L M4 _‘ '

0-5Bar

0.25Bar

Whw no: JYS0014

Mhw no: JYS0019

Part no: Part no:
Application/0.E. M: Application/0.E. M:
VDO JF
DF

18 ;-'_-é_::IS!E-r-ISNPT '.‘ 4mm 0-10Bar (Cu _ et T w ‘ 0-5Bar ’
Mhw no: JYS0015 Nhw no: JY$0020
Part no: Part no: GA10(12V)
Application/0.E. M: Application/0.E. M:
GITROEN DF

18 | B vezmer ';] 4rom 0-6Bar | 0.7:40.158ar 18 ’ 2 mamer| T om ‘ 0-88ar ‘

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Nhw no: JYS0021

Part no:
Application/0.E. M:
TOYOTA 83520-60010

Mhw no: JYS0026

Part no:
Application/0.E. M:
RENAULT 77 00 690 868

14 118GAS |1, 6.35 0-8Bar ‘ {(C, 14 M10X1.0 | Pt ‘ ‘ 0-6Bar ‘ 0.7Bar
Mhw no: JY$0022 Whw no: JYS0027
Part no: Part no:
Application/0.E.M: Application/0.E. M:
TOYOTA 83520-60011
14 18GAS || 6.35 1 1/4-18NPT M ‘ ‘ ‘
Mhw no: JYS0023 Mhw no: JYS0028
Part no: OP6095 Part no:
Application/0.E.M: Application/0.E. M:
JAGUAR
17 114GAS 635 ‘ (C 21 | 1M4-18NPT ‘
Whw no: JYS$0024 Mhw no: JYS0029
Part no: Part no:
Application/0.E. M: Application/0.E. M:
LADA 2103-3810300-01 VOLKSWAGEN 035 919 561
035 919 561A
18 | T 1x1anpT ‘ 14 M10X1 0‘ §.35 ‘ ‘ 0-58ar ‘ 0.3Bar ‘
]
Mhw no: JYS$0025 Whw no: JYS0030
Part no: Part no: 0P6083
Application/0.E. M: Application/0.E. M:
NISSAN 25070-89903
25070-55960
25010-80W00
OPEL
2 | Z2| mex1s 635 0-7Bar ‘ H sa’ 1/8-28150 ’ ‘ 0-8Bar | 0.68ar ‘
. . |_

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Whw no: JYS0031

Part no:

Application/0.E. M:

G. M. 1030966
14040816

ANC 8953000834
8953004550

Mhw no: JYS0036

Part no:
Application/0.E. N:

C@M %HEXE?NW E 6.35

0.68ar C@ 27 %w&rzmm

Whw no: JYS$0032

Part no:

Application/0.E. M:

G. M. 10007393
14036243
459417

Mhw no: JYS0037

Part no:
Application/0.E. N:
RENAULT 336 263 02

&1! %HEKIFNPT E 6.35

. 48
0-6Bar C@” % M10X1.0 HG-%E

0-5Bar

0.25Bar

Whw no: JYS0033

Part no:
Application/0.E. N:

Mhw no: JYS0038
Part no:
Application/0.E. M:

{Z(EZ 17 E%; M12X1.5

0-6Bar C@H’ % 114GAS

Mhw no: JYS0034
Part no:
Application/0.E.N:

Mhw no: JYS0039

Part no:
Application/0.E. N:

C@ 18 %1.’4- 18NPT

0-6Bar C@H % 1/8GAS ﬁ 4mm

0-6Bar

Mhw no: JYS0035
Part no:
Application/0.E. N:

Mhw no: JYS0040

Part no:
Application/0.E. M:
JAEGER 336 967 01

& 27 %H& X 2TNPT|

________ i@ - % M16X1.5 D“MMD
con

0-10Bar

0.6Bar

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Whw no: JYS0041
Part no:
Application/0.E.M:

Mhw no: JYS0046

Part no:
Application/0.E. N:
JAEGER 334 108 01

402 069 01

C@ 18 % M14X1.5

M4
6.35

C@ 17 % M14X1.5 ﬂdmmﬂ

0-5Bar

Mhw no: JYS$0042
Part no: OP6624
Application/0.E. M:
AUDI

Mhw no: JYS0047
Part no: OP60B1
Application/0.E. M:
NISSAN

m
C@” % M10X1.0 @a_asﬂ

0-58ar 0.6Bar C@” % 1/8GAS E.] Amm

0-6Bar

Mhw no: JYS0043

Part no:
Application/0.E. M:

FORD G40 1175

239941

Whw no: JYS0048

Part no:
Application/0.E. M:

£ 14 %1!&"'3?NPT

E 6.35

0-6Bar C@” %WXJTNPT ﬂ M5

0-6Bar

Mhw no: JYS0044
Part no: 0P6082
Application/0.E.M:

NISSAN 25070-01P00
25070-01P10
25070-06F00
25070-21P00
25070-89909

Mhw no: JYS0049
Part no:
Application/0.E. M:

C@H % 118GAS

=

0-8Bar 0.6Bar &IE %HHHNPT @ 4mm

0-10Bar

Mhw no: JYS$0045
Part no: OP6639
Application/0.E. M:

MERCEDES 005 542 18 17
006 542 94 17

Whw no: JYS0050

Part no:
Application/0.E. M:

@1? % M12X1.5

D 4mm

0-3Bar C@ 14 % 1/8GAS ﬁdmm&

0-6Bar

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Nhw no: JYS0051

Whw no: JYS0056

Part no: Part no:
Application/0.E.N: Application/0.E.N:
VDo 51/3
VoLvo 1594 229

19 M14X1.5 o ‘ 0-5Bar ‘ 17 _'-;'wax:mpr (e ‘ ‘ 0-78ar ‘
Mhw no: JYS0052 Mhw no: JYS0057
Part no: Part no:
Application/0.E. M: Application/0.E. M:
VDO 64/3 VDO 0252
YOLVO

24 M18X1.5 4mm 0-5Bar  |0.25:+0.15Bar 19 ’ M10X1.5 4mm ‘ = 0-10Bar | 0.7+0.15Bar
Mhw no: JYS0053 Mhw no: JYS0058
Part no: Part no:
Application/0.E.N: Application/0.E.N:
VDO 11 56 07 JAEGER 333081

n’ ~meanwer| L ‘ 0.7Bar | 0.7:0.158ar 1 | B waaner| L ‘ 0-10Bar | 0.25:0.1Bar
Nhw no: JYS0054 Mhw no: JYS0059
Part no: Part no:
Application/0.E. M: Application/0.E.N:
VDO

17 1BX2TNPT| b MA 0-8Bar | 0.6+0.15Bar 17 et | [ amm 0-10Bar
Mhw no: JYS0055 Mhw no: JYS0060
Part no: Part no:
Application/0.E. M: Application/0.E. M:
NISSAN

’ 15’ _;'114-13NPT I 535 0-68ar ‘ 17 1/8-27NPT __ 4mm 0-108ar

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Mhw no: JYS0061
Part no:
Application/0.E. N:

Whw no: JYS0066

Part no:
Application/0.E. N:
VDo 29/12

360-081-029-062C

&

C@” %w&zmm @ i

0-10Bar | 1.0Bar Cj@n %wumpr @ 4

0-10Bar

Mhw no: JYS0062
Part no:
Application/0.E. N:

Whw no: JYS0067

Part no:
Application/0.E. N:

&

C‘(@ 17 % 1/8-2TNPT @ 4mm

L2

0-10Bar 1.8Bar C@!? %m-:mpr I@ dmm

0-10Bar

Mhw no: JYS0063
Part no:
Application/0.E. N:

Whw no: JYS0068

Part no:
Application/0.E. M:
VDO 51/11
Fl yoLvo 3987498
x
!

£ 19 % M14X1.5 Dimmﬂ

=

-1 4 24 ; ( |
S| SO Cig % e |ml

0-10Bar

Whw no: JYS0064

Part no:
Application/0.E.N:

Whw no: JYS0069
Part no: PS-27
Application/0.E. N:

C(;H %Hﬁ--ﬂNPT & 4

0-10Bar C@N %HE--EFNPT & M4

0-10Bar

Mhw no: JYS0065

Part no:
Application/0.E. N:
VDO 29/20

360-081-029-020C

Whw no: JYS0070
Part no: P$S-47
Application/0.E. M:

B

%13’4-1ENPT @ 4mm

0-10Bar C@H %warzmm E 6.35

0-6Bar

http://www.okaymotor.com



CATALOGUE OF OIL PRESSURE SENSOR

Mhw no: JYS00T1
Part no: PS-48
Application/0.E. M:

d( 14 %m-:mpr

E 6.3

0-6Bar

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SENSOR

Mhw no: 280001 Nhw no: Z2S0006
Part no: Part no:
Application/0.E. N: Application/0.E. N:
VoLvo 1591 967
‘ _: ‘ 28 (%28 ‘ 30 ‘ M20X1.5 ‘ 4mm
Mhw no: 250002 Whw no: 280007
Part no: Part no:
Application/0.E. N: Application/0.E. M:
VOLYO 100302486
20514417
2 ‘ g ‘ 4mm ‘ . ‘ M18X1.5 ‘
Mhw no: 280003 Mhw no: 250008
Part no: Part no:
Application/0.E.M: Application/0.E. M:
BENZ 020 542 82 17
VDo
22 ‘ = mexis ‘ §.35 ‘ 9 ‘ M18X1.5 ‘ [T 4mm |
Mhw no: 280004 Nhw no: 280009
Part no: Part no: LGI53IAS
Application/0.E. M: Application/0.E. M:
VDO 804/714
30 ‘ 314X16UNF 6.35 27 M20X1.5 28 °| 2.8
Mhw no: 250005 Mhw no: ZS0010
Part no: Part no:
Application/0.E. M: Application/0.E. N:
VDO 2159.50 00 4201 450
7 M18X1.5 28 ‘ 9T ‘ M22X1.5 28 ‘

http://www.okaymotor.com




CATALOGUE OF OIL PRESSURE SENSOR

Whw no: ZS0011
Part no: VD-LG102A
Application/0.E. M:

Mhw no: 280016
Part no:
Application/0.E. M:

C@ 27 % M22X1.5

C@ 28 % 3I4X18UNF

Nhw no: 250012
Part no: LGI37F3
Application/0.E. M:

Whw no: ZS0017
Part no:
Application/0.E. M:

C@ a7 % M22X1.5

C@ 2 % M16X1.5

Mhw no: 250013

Part no:
Application/0.E. M:
PEUGEOT 7231 9800

Mhw no: 250018

Part no:
Application/0.E. M:

£ 24 % M19X1.0

C@ 7 % M22X1.5

Whw no: 280014

Part no:
Application/0.E. N:

Whw no: ZS0019

Part no:
Application/0.E. M:

(:@ 28 % 3M4X16UNF

C(@ 2 % M16X1.5

Whw no: 280015

Part no:
Application/0.E. M:

7
i}

Mhw no: 280020

Part no:
Application/0.E.N:

£ 25.4 % 34X16UNF

C(g b % M22X1.5

http://www.okaymotor.com

-10-



